g/ég’ {7(&4’{ ‘2 ﬂwt\&m

Reﬂmﬁ the 5\(&‘{.{)‘"&&’1—{_ oF the ‘f[‘”"ﬁ"’* &
?"9’- W4o ,f the bool.

-

n
S

()=

Z:
Let S be sn sprienfedd sur¥ace bounded by
o YoRssce. | <, then

§_YE°A'F = \Cf VxFeA3
¢ S

D'H»&f‘ ”04A‘}!\pf\
g FoTds = S§ VxF e N A5
c S

STD J"(\ﬁ -J_/Lkﬁﬁf\&ﬂd )‘5 an (k')cc'ﬂf:'on PF
6P3£W\5 'H’lf—'&f‘ﬁ-r"\. T\na+ r'f/ Grecﬂrﬁ %earm

'y on 6P€£f‘a\ Case of Stoke's Thesrem,



Exami)’
() Find §doz, g a>edd whees C

the F°5'+1V&[7 &r:eﬂ{Yo( aurve o
lﬂ+¢f5¢:'FtpA ba“wztn 'ﬂﬂc. F'ame.
X+24+3224 and the cylinder

32+ZL=£{_.

n

TL:. curve C ’Dounooﬂ ’HﬂL 'Far‘)" p'¢ 'J/L‘
Plone Xzb-2y-32 that s ins/ e ¥ 2= 4
TS e let Q(x,q2)= xt2g+32-6, then
NolS = V€ dgdz = {12,354
Ux{ . I ety
-3,,%2> = 46,2, 07 .\ D: _@_?
50
g:<'*1‘.],x>ab? 2 Kf(v«-z,g,@)»ms
S
= §§ 4) dyda
D

= (4)(47)= -1kt



E,x‘,,m@'c
[B) Lot Fedre,ye, wyrrat>
S Z={lo-aimgr  the top half
Dg" A ‘SPLA—I‘L 4 PAA:'Mﬁ 4 "‘f"’l"‘*"( at

Fhe 0(‘,‘?,34, aﬂa* ¢ be 'H\a bovmaﬂf‘y
b'p S Fn'nok gE“A?,

[
T\nl—- Cnulrye hﬁf O ’?qram"‘c(‘;‘;,zﬂ;-/'l'ﬁn ’F

C.: $(f); (4&95({-), ‘('SI'n(i')} D>) ot tézar

S0 as o l,‘ne ,'-n'f-c?m.) we lnavL
X

§C Fbplr = S:)<o,¢9)l|->0 <*45‘.h(‘£’),4£¢61f'),b>jd—
2

= gﬂoolt‘*D

&

IQ We. &??17 4, ke's ﬁuzpfam} '("14!)4
0‘0 n't use the S Yhat 5 9:'\/&0’\. I‘Hfl‘fﬂd*
wse the disk x*+ ?"'é b and z.-,a.Twa\

WF = {y,-%,0% ank NAS = B dwly. 50
§Eode = ({aafoNds = [ La-morcorondud
¢ 5 g

= S]\rOp!zr(g = &

x4ytsle



ND+€' %“+ [n -H'\l\é f’,(agmf/e_, é/"ﬂ'ef‘
‘H"‘ \:r\é ;ﬂ';“cgm’ of "wa_ 6:4("'?4!& :‘n‘}f;m«/

('?or ﬂt 5‘(Ar-ﬁ.q(¢ e C’I@%) Was f¢’&+"V¢[/
80\67, ‘/\J& pepn"" Mte;p‘ +a USs e 'Hw! f“f¥4l4

1 , 1/
Pas,erlr

gl‘\/#”, e;Pcc.'m“y l‘g: 'H’*éfd ’s an
"H\a.'}" % q‘!p \oauln;/cp/{

5Mf'£#\£e A\Jm'f‘a“(—
\'Jy "H'vt entvVe,



